Sketching Parabolas

Q. How can you sketch the graph
of a parabola quickly ?

A. Find out where it crosses each axis.

Example Yy = X2 - 2x - 8

On the y-axis x = SO y=
The graph crosses the y-axis at ( : )
Factorise y= X% - 2x - 8

On the x-axis y =

For y to have this value x = or X=

The graph crosses the x-axis

at ( , Yand ( : )

Mark the three points on the grid.

A

v

The parabola is symmetrical. Draw the line of symmetry.

The equation of the line of symmetry is

At the 'bottom’ of the parabola y has its minimum value.

The co-ordinates of the minimum point are (
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Sketching Parabolas

y = X2 + 2x - 15

On the y-axis x = so y=__
The graph crosses the y-axis at ( : )
Factorise y=Xx2 + 2x - 15

A

On the x-axis y =

For y to have this value x = or X=

The graph crosses the x-axis

at ( , Yand ( : )

Mark the three points on the grid.

The parabola is symmetrical.

Draw the line of symmetry.

The equation of the line of symmetry is

At the 'bottom’ of the parabola
y has its minimum value.

The co-ordinates of the minimum point

are ( : )
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Sketching Parabolas A

Q. How can you sketch the graph
of a parabola quickly ?

A. Find out where it crosses each axis.
Example Yy = X2 - 2x - 8

On the y-axis X = O so y= -8 )

A

The graph crosses the y-axis at ( O , > )

Factorise y= X% - 2x - 8

‘);(JC +2) 00 =G

On the x-axis y = O
For y to have this value x = _2— or X-= Lf‘

——— | —— — S e |

The graph crosses the x-axis 1

at ("2 . O yand (b, O

Mark the three points on the grid.

The parabola is symmetrical. Draw the line of symmetry.

The equation of the line of symmetry is &

At the 'bottom’ of the parabola y has its minimum value.

The co-ordinates of the minimum point are ( ( . 1 )

)C‘«[ j: )Cl_,ZpC’ %/
jf, (Lo 2xt - ¥ = [ -~ ¥=-9

el Jlaadl (3535 — Gl s jua — G slaiy Ay — aplus SE — iy )l
Mathematics- Proper Thinking- Accuracy and Cooperation- Patience and Discipline- Science Beauty sensatidvi

v


L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil

L.Henry
Pencil


Sketching Parabolas

y = X2 + 2x - 15

On the y-axis x = O so y= - fS
The graph crosses the y-axis at ( O . ’5 )
Factorise y=x2 + 2x - 15

97 £5)x-3)

On the x-axis y = O

For y to have this value x=_ 5 or x= i

The graph crosses the x-axis

at(~r5,(> )and(g,o)

Mark the three points on the grid.

The parabola is symmetrical.

Draw the line of symmetry.

. . . D¢ -
The equation of the line of symmetry is

At the 'bottom’ of the parabola
y has its minimum value.

The co-ordinates of the minimum point

are(’] ,/)é) \7</<,
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